Absolute Value Translations 


Activity 1

LET Y1 = 
[image: image1.wmf]X

     AND Y2 = 
[image: image2.wmf]X

   + 2.     GO TO TBLSET.   SET TblMin = 0 and   Tbl = 1.  GO TO TABLE.  DESCRIBE HOW THE VALUES FOR Y2 DIFFER FROM THOSE FOR Y1.

WHAT DO YOU THINK THE GRAPH OF Y2  WILL  LOOK  LIKE?

CHECK WITH YOUR TI*83.

REPEAT THE ABOVE FOR Y2 = 
[image: image3.wmf]X

  + 3,   Y2 = 
[image: image4.wmf]X

 -  5 AND   Y2 = 
[image: image5.wmf]X

  -   3.  WHAT EFFECT DOES THE VALUE  C  HAVE IN THE FUNCTION    Y = 
[image: image6.wmf]X

   + C ?
Activity 2

LET Y1 = 
[image: image7.wmf]X

    AND LET Y2 = 
[image: image8.wmf]3

-

X

.  CHECK THE TABLE AS BEFORE.   FIND THE VALUES X = 0 AND Y1 = 0 ON YOUR TABLE.  WHERE DOES Y2 = 0?    FIND THE VALUES X = 5 AND Y1 = 5 IN THE TABLE.   FOR WHAT VALUES OF X DOES Y2 = 5?   HOW DO YOU THINK THIS WILL AFFECT THE GRAPH?   

CHECK WITH YOUR TI*83.

REPEAT FOR Y2 = 
[image: image9.wmf]4
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X

,   Y2  =  
[image: image10.wmf]3

+
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     AND   Y2 = 
[image: image11.wmf]5

+

X

.  DISCUSS THE EFFECT OF THE PARAMETER B IN THE FUNCTION   Y = 
[image: image12.wmf]B
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DESCRIBE AS BEST YOU CAN WHAT THE VALUES B AND C TELL YOU ABOUT THE BEHAVIOR OF THE FUNCTION Y = 
[image: image13.wmf]B
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  +    C.

TIME PERMITTING, REPEAT THE ABOVE ACTIVITIES WITH   Y1 = X 2,  Y1 = 
[image: image14.wmf]X

, AND  Y1 = X 3 .
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